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Find the values of the following: 

ܿݎܽ (1 sin √3 2ൗ   
 

ܿݎܽ (2 cos൫− 1 2ൗ ൯ 

 
 

ܿݎܽ (3 tan 0 

 

 

ܿݎܽ (4 sec √2 

 

 

ܿݎܣ (5 cos 0 

 

 

ܿݎܣ (6 sin(−1) 

 

 

ܿݎܽ (7 sin 0.4067 

 

 

ܿݎܽ (8 cos 0.6293 
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ܿݎܣ (9 sin 0.9951 

 
 
 

Solve for ߠ 

ݕ (10 = sin  ߠ4

 

 

ݕ (11 = 3 tan  ߠ2

 

 

ݕ2 (12 = 4 sec  ߠ2

 

 

Solve for ݔ 

ݕ (13 = 1 3ൗ ܿݎܽ  cos(4ݔ − 4) 

 

 

ݕ (14 = ܿݎܽ tan ݔ − 2 

 

 

ݕ8 (15 = ൫ߨ 3ൗ ൯ − ܿݎܽ 4 cos(2ݔ + 1) 
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Answer Key 

1) (−1)௡ ߨ 3ൗ +  ߨ݊

ߨ±2 (2 3ൗ +  ߨ2݊

 ߨ݊ (3

ߨ± (4 4ൗ +  ߨ2݊

ߨ (5 2ൗ  

6) − ߨ 2ൗ  

7) (−1)௡(0.4189) +  ߨ݊

8) ±0.8901 +  ߨ2݊

9) 1.4719 

ܿݎܽ) (10 sin (ݕ 4ൗ  

11) ଵଶ ܿݎܽ tan൫ݕ 3ൗ ൯ 

12) ଵଶ ܿݎܽ sec൫ݕ 2ൗ ൯ 

13) ଵସ (4 + cos  (ݕ3

14) tan(ݕ + 2) 

15) ୡ୭ୱ൫ଶ௬ିగ ଵଶൗ ൯ିଵଶ  

 

 

 

 


